Name: ______________________________




Math 8

RELATIONS AND FUNCTIONS

Problems 1 - 5, identify the domain and range for each of the following. Then determine if it is a function and explain why.

1. { ( 3, 5 ), ( - 1, 3 ), ( 3, - 4 ) }

 
Domain: __________________________

Range: ___________________________
  _______________________________________________________________________________________________________________________________________________________________________________________
2. { ( - 2, -3 ), ( 6, 1 ), ( 7, - 3 ) }

Domain: _________________________

Range: __________________________

_______________________________________________________________________________________________________________________________________________________________________________________
3. { ( 8, - 1 ), ( - 7, 6 ), ( 8, - 6 ) }

Domain: _______________________

Range: ________________________
_______________________________________________________________________________________________________________________________________________________________________________________
4. { ( 0, 0 ), ( 2, 3 ), ( - 1, 2 ), ( 3, 2 ), ( 4, 3 ) }

Domain: ______________________

Range: _______________________

_______________________________________________________________________________________________________________________________________________________________________________________

5.   { ( 8, 0 ), ( 7, 0 ), ( - 1, 6 ), ( - 7, - 1 ), ( 0, 7 ) }  


Domain: _____________________


Range: ______________________

_______________________________________________________________________________________________________________________________________________________________________________________
Problems 6 – 10, identify the input and output values. Then determine if it is a function and explain why.

6.   { ( - 1, - 2 ), ( - 2, - 1 ), ( - 1, - 3 ), ( - 3, - 1 ) }


Input values: ______________________

Output values: ____________________ 
_______________________________________________________________________________________________________________________________________________________________________________________
7.   { ( 1, 2 ), ( 2, 3 ), ( 3, 4 ) }


Input values: _____________________

Output values: ____________________
_______________________________________________________________________________________________________________________________________________________________________________________
8.   { ( 0, 2 ), ( 1, 2 ), ( 2, 2 ) }


Input values: _______________________

Output values: ______________________
_______________________________________________________________________________________________________________________________________________________________________________________
9.   Input values: _________________________

      Output values: _______________________

_______________________________________________________________________________________________________________________________________________________________________________________
10.   Input values: _________________________
        Output values: _______________________

_______________________________________________________________________________________________________________________________________________________________________________________
Problems 11 – 18, use the vertical line test to determine if each graph is or is not a function. Write yes or no.

11.





12.

13.





14.


15. 





16.

17.





18.

Problems 19 -  22, determine if the equations are functions. Write yes or no.

19.   y  =  2x  -  7



20.   y  =  3x2  +  9 

21.   y  =  4




22.   x  =  8

23.   Show why your answers are correct to problems 21 and 22 by graphing both equations on the coordinate system below. Label your graphs.


Problems 24 – 29, use the function rule to find the output values ( the range ) for the given input values ( the domain).

24.    y = 2x + 1



27.   f(x) = 4x – 2


x         y



          x         f(x) 

0





2

1





3

2





4

        
3





5

25.   y = x – 8



28.   f(x) = - 2x + 7


x         y




x         f(x)
    
6        





- 1    

7





0


8





1


9





2

26.   y = - 3x + 4



29.   f(x) = ½x + 5


x         y




x         f(x) 

- 1





0

0





2

1





4

2





6  

30.

[image: image1.png]In each table, x represents the input value and y represents the output value. Which
table does not represent a function of x ?
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